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int k=10;

long m=200L;
double f=1.2345D;
final int SIZE=100;
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int v = 10;
int k = v++%5;

(1) 2=t ddE =0l ve k2 g2 eI
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System.out.println(“100”+“200”);
System.out.println(100+200);
System.out.println(“100”+200);
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9. boolean H==2| &S truelllAl falseZ BHEAID|IHAE OE HAXE ALE0H0OF St=I1?
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public MyProgram {
public static void main(String args[]);

{

int x, y /SRS 8 B A
x =10

y = 20

sum = X +y
system.out.println("& ' + sum)
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class Demo {
public static void main(String[] args){
int 1 = 3;
1t++;
System.out.println(i); /I "4"
++1;
System.out.println(i); /[ "5"
System.out.println(++1); // "6"
System.out.println(i++); // "6"
System.out.println(i); /"7
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1. import java.util.Scanner;

2.

3. public class Test {

4 public static void main(String args[]) {

5. int x = 0;

6. System.out.println(x);

7 Scanner s = new Scanner(System.in);
8 x = s.nextInt();

9 x = s.nextInt();

lb. boolean a = true, b = false, ¢ = true;

11. a=(0 || ¢ && (a || false);

12.

13.

14. }

=HS X a b c
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14. G322 A DEE XH Eg)do=z H

m double & 2| speed, time, distance H+E

mspeed B0 90.02 NESHCH

mtime B0 60.02 NZ&SHC.

® speed 2t tim =otd 1 ZUE distancel MASHCH.
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Ct. Integer.toBinaryStrring(value)
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